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COMMERCE
( Honours/Regular )
Paper : COM-HC-4016/COM-RC-4026
( Cost Accounting)
Full Marks : 80
Time : Three hours

The figures in the margin indicate
full marks for the questions.

Answer either in English or in Assamese.

1. Answer the following as directed : (any ten)

1x10=10
o SR ©eTe AR #9175/ ©ed fTl ¢
(a) Costing is a technique of cost.

(Fill in the blank with appropriate word)

Tesiin 3 f2B1e (FleT TR G5 (P |
(o *1%727 T 912 959 1)
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O ® (i) HIFO (%)
(b) Cost accounting is based on figures. ; o (&)
(Fill in the blank with appropriate word) ST (Select the correct answer)
GRA 3 FRpioese TRYF oo o (3% Teseo! qifR feren)
I (C#3@ 7T <lfer} 1% 259 1) hich industry process costing is not
(c) Variable cost per unit remains constant. (9) Elsgd ;C
}3227 whether the statement is true or ﬁmﬁmwﬁmmq oo D
ARSI 77 SIS (olf5w Wi A | FPCI?
(@’“—(57“ @C0) 3] (7 ey ]%;gﬁ) () Chemical (SRR )
(@) Wages paid to factory supervisor is (i) Textiles (@)

(e)

overhead.

: (iii) Cement (6TT5)
}iﬁgg whether the statement is true or fiv) Ol refinery (Cov1 GAISFAA)
SIRIE “Af7(5 ARty =1 AT T (Select the cone;;fgnsw:g
B! JR Tl S3
ARSI (Efethr ey @ e ) (o

Re-ordering level = Minimum

(h) An abnormal loss is

consumption x Minimum re-order period. SRS Foq el
(State whether the statement is true or (i) due to the nature of process
) oo TR I
AR T Teigont x oS (ii) due to the abnormal factors
TR | (8fe251 797 G ey ) TSI P A
() er.uch m.ethods of valuing materials is (iii) None of the above two
suitable in terms o rising prices ? TAES qCHIG! T2
LU Qﬁﬁ 3RO (PICH! Ao AN S[ETIR (Select the correct answer)
RRlEE: (1P TeCh! R Tfaed)
() LIFO (Fr)
(i) FIFO (R Contd.
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K
(n) What is meant by Cost Ledger

(i) Costing provides :
: all of - . A
lgf?lrr'nation’ 2l ______O th.e i | Accounting ?
(() Iti in the blank from the following | o
{_j" ons) Teoli 3 Ao RBoied i 6 &t 2
1
(i) product costs (o) Identify the types of Specific Order
(iti) cash forecasts Costing :
Y Inventory value ;
(i) cost of goods solq R ST 731 TPl iR ol 1 ¢
) Batch costing
TR Rpl=im &
e iy O CRRTES ! w2l 17w 1) w7zl b1 #116F 73 FRBiAE
(1) ¥ R
(i) e g (iij) Process costing
U eiferal fepiereet
(v) @ '
() Def ;FU (iv) Both (i) and (ii)
1ne t ¢ A . o
6 € term Costing’, (i) B=: (i) WEAIo!
ST T Rpofere
) i T e faat | (Select the correct answer)
hat is idle time o - (32 T&ICo! 31z Tfesan)
SIS T ey B
() What is meant b 2. Answer the following questions : (any five)
KT B Y Cost-plus contract ? 2x5=10
) W_t‘ RUSHSE =P T TN 91 R #ipbia e sl ¢
rite the mean. h o b . .
C aning of 4 o (@) Write any two distinguishing features of
%OSt Accounting 'Mputed cost’ in cost unit and cost centre.
Q?ﬂ?ﬁmﬁmm
3 (% 3 (S A
I S a7z ol Bl | %‘iﬁﬁﬁ TR (G NS 75! AL e
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3.

(b) What is economic or

der quantity ?

o3 Wit e s

(¢) State the meaning of overtime.

SfofRe g i o

d
(d) State two features of indirect labour.

(e)

0

()

(h)
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‘

I 05 751 (a8 Sz < |

State twoi
m
costing. portant features of contract

Bt o 70 24 Caiey Bz 4 |

What is meant by
contro] ?

TGO ~19Y oR1e] Tr Trow
S \ T W 7 3@ ?
at 1s machine hour rate ?
01 2 foo '

What is mea
overheads

minimum level’ in stock

Nt by absorption of

Answer g
ny four of the following questions :

5x4=20

6

(b)

()
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Write a short note on ABC analysis of
inventory control.

S 7o) ages ABC R A ed 8 o1F® b
2 (@ERERIN

Black and White manufacture and sell
‘Dirt Buster’. Following details are
available for the year ending on
31/03/2022 :

Black ¥ White @ Dirt Buster’ TeoAMe
e R | 31 6 2022 IfRTa Sree R TS

SieifonE [ese wore mal 2e 2
Direct Materials

g 12,30,000

Direct Wages 2 8,00,000

T A3
Factory expenses at 25% of prime cost

I <=6 32 FIE 25%

Administrative expenses at 20% of
factory cost

SGETEE 490 PR TTF 20%

Selling and distribution expenses at
Z 300 per unit

£} o e 295 300 53 @fS (Alio®
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o) i : 4)
(lggmng stock of finished goods | Interest rate 10% per annum
stockl(-)l?;ts-) at R 2,583,750 and closing | UGEEREES]
of Dirt Blﬁlsi};:;i 2’0?51280 units. Number | Lead time Half month
) old during the period | i
1,220 unit at g 4,000 per unit o | WW R
IR e ! Bt Calculate EOQ and Total Inventory Cost
IR o U 100 Co1f6® 2,53, 750 5t wif in respect of the particular material.
S 22 7 80 (6 | 2ifecs (a5 4,000 | O
: 1,220 09115 Rt 71 7 GRS @OER EOQ ik 0 79 25 <%
plr_ ggirciiggst State.ment SNovnecost ol Sle <54l |
- Per unit and profit, ' (¢) How is profit of an incomplete contract
© (90T Tesiifrg A T e T ascertained ? Explain.
RIS ooy SiCRAR Sl FO<0! #1910 TS (RGP S1efl <R <A, 1
(d) Following ; | Sl
| 3 1E:)rlowmg mfprrnation Rt = _
aW materia] ig available : el | () Explain the needs for reconciliation of
G RO o i cost and financial accounts.
EG B PIFT AN S were fdl el I 2517l i K Ro17i TR
Annual demang TSIl G 1 |
AR Bifzw; R 4,800 unit (g) Explain the concept of perpetual
U e inventory system as a technique of
iy price 348 effective material control.
I 37y 540 <o T 190 eI (PPt 2T o e
Ordering cost Ber order % 5.0 s{el] Ao LIFETCET T P |
Moo 37 ﬁ%w@@ .00 (h) Mention five special features of a good
Storage cost costing system.
R <R T 2% per annum | @5t 37 9 25199l Aw S 250! [ Trard
901
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U el <5 SRS I | 95T Al S 71!
4. Answer any four of the following questions: |

10x4=40 | oS SRR TSR v
§ o ; SIS
WWWWWW%‘JT? TR GEINY)
| ) |
(@ What is cost accounting ? Explain the | (i) Taylor’s S OI® S
objectives of cost accounting. 3+7=10 | i 29 &S Tore 90.00 T
%meﬁm@qmﬁwﬁsqmw S
%W%%WWW| . | e T &lfS (TS 60
(b) Bishal is employed in a factory. From OO 8
the following information, calculate his T qICE e D9 X9 80%
earning Per day Under — | Vs o4l 120%
0
(i) Straight piece rate; and ‘ bR T
o | T |
(ii) Taylor’s differential piece rate eifefr 500 TR
*¥stem. Normal rate per hour | : emuneration plans
% 90.00. Standard time per unit 60 (c) Briefly describe two r gt o
seconds, together with their advantag
_ . 5+5=10
Differentig]g - disadvantages.
80% of piece Tate below standard Bl sy #iREl siﬁiﬂ YR AIS
120% of Piece rate above standard : el <l 1|
Production achieved : 500 units per
day. Contd.
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Product passes through two processes. 1 (e) What is material control ? Explain the

The details ar
e 4 Bl
as below : purchase procedure to be maintained

IR S 951 et e S
EaIy Rgeeir U0 ﬁ?ﬂ 257 SERSEa under material control system. 2+8=10
proin X3 | ST el 2 el ] aToe SR 3
| sifer] STl @ A it |
gmroduced 5 U (I ' () What is labour turnover ? What are
S
€ 0 o L various causes of labour turnover ?
OSt per unit (in 3 s ; :
afetd! (sifbq T (51) 19 oY Explain in brief. 3+7=10
Other materials (i 3) | i St I 2 i onea f{fen o
Zim A (G3) 30,000 20,000 | 5 9 FRCIFCA 010 34|
our (in g)
= (5) 80,000 90,000 , (g) Discuss various bases for apportionment
Overheads (in 3) of overheads to cost centres.
1R 3 (5a) 40,000 30,000 |
Normal loss (% in input) 1 e TelfRe a Reer i [ied feferz
Scrap value (3 Per unit) il :

(! /R T (&% (s 10 15 | (h) Whatis job costing ? What are the source
Actual output (in Units)\g W) documents used in job costing ? Explain
oFe Beelr (ot Rolofe) 8,700 7,800 the procedure of job costing. ~ 3+7=10

PI‘ <
acffua; Process | S . wmﬁmmqﬁs?mmﬁwww%%
: WSR, Also ascertaip cost A ¢ 3 Qe I 9 A 3 T IR
e
oo 1 B s e e 1
RIE| ﬁﬁﬁcf % | 91 9 effo
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l
() Whatis abn |b
of abnormzniaJl loss ? State the causes ((] ) (5)
0ss. Als - _
proced 0 expla
42 ure of Cé‘.dculatin ab e Works expenses allocated to jobs 70,000
Pprocess costing g abnormal loss e c%:{ ]
: = 50 T P IR
eIk i ozl
sifem mﬁﬁ:\:—j:;j;’*ﬁﬁ PRITR Sz 1 | | Administrative expenses 50,000
%S 1 5 P f ool w1 ,'_@E : ;
6 Th Administrative expenses allocated to jobs 34,000
¢ following or¢ | e e A 2P
transactions '€ the summary of
TR Chobtaunecl from the cos{i;g | Finished goods transferred to warehouse 4,00,000
ampa Com IR T S ZIA
\CHIG) farﬂf WW pany. [ AU \Y
RoToReee R IRIRH Bwoopy @ST T | You are required to journalise the above
CoTrY f’-{‘cag transactions under integral accounting
Die ; system. 1x10=10
€ct wages !
T A (W)(Cash) (:J G | @olqs 4R EFTER AIE I NG [OS
; 0,000 |
Indirect wages [cash) | S 23R S
s ) 20,000 |
Purchases (cash) : |
& (qW) |
Puch 40,000 _
chases (credit)
e 2,00,000
Stores i e
- ores 9::Isued 3gainst produeg, |
Ul n |
Work Gy 170,000
IKS eXpenses (Cash) .
PT3435 (7 i
) 40,000
11000
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